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ifindex AlZt5t7 ]
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ifindexE 7|8t 2 ¥ £E

ifindexo| o|3H| Ef0|= O] QI i. JE| K| ERUAHLE WAl QIHIAFEI B2 EE JHA]
BRIDGE-MIB2} IF-MIB2| At £t7|

e He

SNMP(Simple Network Management Protocol) Z4X& E3E I E3Tl= CHA S He5HA oto
gLt O|E &3] olastEdt E-3EI= At E2SE A | o7 #AE ut 2
of gfL|Ct ol EMHIME SNMPUIM RQIHIAE AL 5104

7|18 W2 E CHELct
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NN T AHE
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Ol EAMe| SAh= ChE FAofl Cia &1 R{o{ok ErLCt.

. SNMPO{| CH&t eldtzio] x| Al
. SNMPZ E£3l Cisco C|HIO|AE FZI5t= O A2 E|= A X E 0]

AISElE THE 24

Ol EMol HE= OIS AZEQ 0] X st=f0{ HEE ZIgte = gLt

K

. UCD SNMP H{%1 4.2

. Cisco Catalyst 5509 with Cisco I0S® Software & 2|4 5.5(7)
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ifindex Al&}35t7]

SNMPE CtE [ 7t BX| gotok & XA & StLtE ifindex@ILICH Ol 2 E 7HA|e| 7|2 Z|YLICH
2E eEmolA(EEIH & =2M)7t BElklo] S €Y ote Y-S TedstAlAIL.0] 22 ClHE

A
O|AE RE6te st Y E|/H HEEIX| 22 = UA&LICLEE QlE{m|o|Ao] CHal E2I5Hok &
MEJ o™ T E AtS ALE5HoF g LICtH
Ifindex7t IF-MIB(REC 1213 0)M|AM CtSut 22 WAlO 2 Ho|El F2
I nterfacel ndex ::= TEXTUAL- CONVENTI ON

DI SPLAY-HI NT "d"

STATUS current

DESCRI PTI ON

"A uni que value, greater than zero, for each interface
or interface sub-layer in the managed system It is
recommended that val ues are assigned contiguously
starting from1l. The value for each interface sub-

| ayer nust renmin constant at |east fromone re-
initialization of the entity's network managenent
systemto the next re-initialization."

SYNTAX Integer32 (1..2147483647)

DE MIBe| A2 HIO|EE2 +H5te QIHAE W27 Qe = Ues H2 Ho|2 EF52 E=
zdolL|Ct

A= .

i fEntry OBJECT- TYPE

SYNTAX I fEntry

MAX- ACCESS not - accessi bl e

STATUS current

DESCRI PTI ON
"An entry containing managenent information applicable
to a particular interface."

INDEX { iflndex }

={ ifTable 1}

MIB al E1|0|E g=0| F0{Z! B E0|E20| QIHAL|= dAlS ZHAXE £+ Q&LICHCIS MAMoiM
|flndex°| o € M3 ¢EL|Ct.

=2 A

ifindexE Z|HIo 2 Zix &2l

A Q%9 ZE 7/40] CH3H ifindex 7|EF ZHA|(ifName)E Z2157] 28l snmpwalk HHEES A&stH
IS £20| EA[ELICH

m

sj-cse-568: snnmpwal k 172.16.99. 60 public ifnane

ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.1
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName. 2

scO
sl O


//www.cisco.com/en/US/tech/tk801/tk36/technologies_tech_note09186a0080121ac5.shtml
//tools.cisco.com/Support/SNMP/do/BrowseOID.do?local=en&translate=true&objectInput=ifIndex
http://www.ietf.org/rfc/rfc1213.txt
http://www.ietf.org/rfc/rfc1213.txt
//tools.cisco.com/Support/SNMP/do/BrowseOID.do?local=en&translate=true&objectInput=ifName

ifMB.ifMBObjects.ifXTable.ifXEntry.ifNane.3 = VLAN-1
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.4 = VLAN- 1002
ifMB.ifMBObjects.ifXTable.ifXEntry.ifNane.5 = VLAN- 1004
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.6 = VLAN- 1005
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.7 = VLAN- 1003
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.8 = 7/1
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.9 = 7/2

ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.10 = 7/3

!-—- This is the relevant line: ifMIB.ifMIBObjects.ifXTable.ifXEntry.ifName.1l1l = 7/4
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.12 = 7/5
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.13 = 7/6
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.14 = 7/7
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.15 = 7/8
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.16 = 7/9
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.17 = 7/10
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.18 = 7/11
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.19 = 7/12
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNanme.20 = ATMB/0
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.22 = /A
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.23 = /B
ifMB.ifMBbjects.ifXTable.ifXEntry.ifNane.24 = Nu0
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.25 = LEC/ ATMB/ 0. 10
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.532 = 3/1
ifMB.ifMBbjects.ifXTable.ifXEntry.ifName.533 = 3/2

!I'--- Output suppressed.

ifName(ifDescr on router) 22| e £230{| M i f nane Fl01| 2 ol HE 7t AAE[0] UEE .S
3t sl o| Al QIE{m|0|AO] & % El ifindexLICH &, 22| F Hm| &l ZE 7/40] ifindex 110|
1M = A2 QHEA 112 AFSELICH F,

g2ELICE iflndexed Z4A|0 E 7/40i Ciet HEE Hote
MIB 2] AIETHOD)S] B01 118 271504 523 findex 201 MG 5t 0] SIASIAE 2

A4S

ifindex0l| o|3H El|lO|& 0| PIM&EIX| I U7LE WAt QIHAF He &2 THA

M2 0|22 BRIDGE-MIBSH 22 ifindex2 QIHIAIE|X| Of&LICHO| S22 MOIstE urAlg
7'|A|-%|'L,|E|-_
= =

dot 1dBasePort Entry OBJECT- TYPE
SYNTAX Dot 1dBasePort Entry
ACCESS not-accessible
STATUS nmandat ory

DESCRI PTI ON
"Alist of information for each port of the
bridge."

REFERENCE

"| EEE 802.1D-1990: Section 6.4.2, 6.6.1"
I NDEX { dot 1dBasePort }
= { dot 1dBasePortTable 1 }
0| £242 dot1dBasePortEntry7} dot1dBasePort0ll 2|5} QA A E|RS S Ho{FL|CH 212{™
ifindex2 0{%& 7| B48-ElL|77I?BRIDGE-MIBE dot1dBasePortlfindex2t= 7H&||0i] dM|AEL|C}H 2
Me chEn 22 gAlo 2 HolE Lot

dot 1dBasePort | fl ndex OBJECT- TYPE
SYNTAX | NTEGER
ACCESS read-only
STATUS nmandatory
DESCRI PTI ON
"The value of the instance of the iflndex object,


//tools.cisco.com/Support/SNMP/do/BrowseOID.do?local=en&translate=true&objectInput=ifDescr
//tools.cisco.com/Support/SNMP/do/BrowseOID.do?local=en&translate=true&objectInput=dot1dBasePortEntry

defined in MB-11, for the interface correspondi ng
to this port."
::={ dot1ldBasePortEntry 2 }

ol £ BRIDGE MIBOIA IF-MIBE 2| & EAHE BM5t= &2 EoiELCIOIZ o= 0| 2
E 0| o{EH Ux|5t=XIE Eo{FLICH

#1: BRIDGE-MIBE VLANEHZ L2 2 7{{FLIE| "public@vian-id'= HIVLAN1 20| A& 3
OF & LCt.

BRIDGE-MIB2} IF-MIB2] A&zt A|

BRIDGE-MIBM|A snmpwalkE A& 5tH QAo CHE O ME £230| ZAIELICH
.dot1dBasePortlfindex(.1.3.6.1.2.1.17.1.4.1.2) 2 A+&5t09 ifindex0ll CHA| OfE & LICt iflndex7t R
S M iflndexE 7|HtS 2 CIE A E E35t= O AFSELICEH

sj-cse-568: snnmpwal k 172.16.99.60 public .1.3.6.1.2.1.17.1.4.1.2

17.1.4.1.2.203 = 671
17.1.4.1.2.204 = 672
17.1.4.1.2.205 = 673
17.1.4.1.2.206 = 674
17.1.4.1.2.207 = 675
17.1.4.1.2.208 = 676
17.1.4.1.2.209 = 677
17.1.4.1.2.210 = 678
17.1.4.1.2.211 = 679
17.1.4.1.2.212 = 680
17.1.4.1.2.213 = 681
17.1.4.1.2.214 = 682
17.1.4.1.2.215 = 683
17.1.4.1.2.216 = 684
17.1.4.1.2.257 = 581
17.1.4.1.2.385 = 8
17.1.4.1.2.386 = 9
17.1.4.1.2.387 = 10
17.1.4.1.2.388 = 11
17.1.4.1.2.389 = 12
17.1.4.1.2.390 = 13
17.1.4.1.2.391 = 14
17.1.4.1.2.392 = 15
17.1.4.1.2.393 = 16
17.1.4.1.2.394 = 17
17.1.4.1.2.395 = 18
17.1.4.1.2.396 = 19
17.1.4.1.2.449 = 22

A EAE EAE £(17.1.4.1.2.388 = 11)2 . 3880| QIHAJUZ LIEHAL|CEH BRIDGE-MIBOI| A
dot1dBasePortIfIndex 7Hx1|% Z2ooZ 3882 dot1dBasePortlfindexLICH &2 40| 112 4l
M2 ifindexL|Ct.0| 220} O|M Z2/0M HEE £Z 5t B ZE 7/40] ifindex?} 110|1
dot1dBasePortlfindex(Index for BRIDGE-MIB)7} .38821 K| gfols* = U&Lct,

2 HE
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